Summation series:
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2 c) 1¥2+l=1
a) Sum of first ’n’%n numbers =n(n+ 1) [4+2+242+1= 9

b) Sum of first 'n’ odd numbers = n? L,+2+%Lu+$+2'ﬂ: 16
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2% Given that 1% + 2% + 32 + ... + 20% = 2870, the value of (2% + 42 +

62+ -+ 40%)is y 1o %6
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2. Given 13+ 23 +33 + ...+ 103 =3025then 23+ 43 + 63 + .- + 203 is
equal to
I3 +234+33+--+103=3025 & aY_23 +43 + 63+ + 203 gar &
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25. Find 12 + 32 4+ 524+ .o ooi e+ 172,
a) 1700 %969 c) 1785 d) 980
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26. Whatis the value of 143 + 163 + 183 + ... + 303?
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27. What is the sum of first 20 terms of the following

series? 20x2 |
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Comparison of fractions:

<_1. Cross Multiplication

2. Just approximate it

. 3. Change in Numerator g,
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— 4. Observing pattern
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23. Which of the following statement(s) is/are TRUE?
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29. Which of the following statement(s) is/are TRUE?
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20. Which of the following statement(s) is/are TRUE?
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3[. Arrange the given ratiosﬁgﬁcending order
15: 7,5: 11and21: 77~
few 71T oqural # HAOD FA F gafeyd ¢
é”"} 15: 7,5: 11and 21: 77.
> = a)21:77 > 5: 11 > 15: 7
27’,/ 5:7>5:11 > 21: 77
c)15:7 > 21:77 > 5: 11
d)5: 11 > 15: 7 > 21: 77
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95 x 97 96 x 98 and R = 97’ then
which of the following is TRUE?
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